ΕΦΑΡΜΟΣΜΕΝΗ ΣΤΑΤΙΣΤΙΚΗ
Φύλλο Ασκήσεων 4

1. Given the following data:
                        X             Y          Z
                        1               3          15                                    

                        7             13           7                                                                

                        8             12           5                                                                 

                        3               4          14                      

                        4               7          10

(a) Compute the Pearson correlation coefficient between X and Y; X and Z. What is the significance of each? Interpret the results.

(b) Compute the Spearman correlation coefficient and the Kendall correlation coefficient between each variable versus each other variable.

2. From the data for X and Y in Exercise 1:

(a)  Compute a regression line Y on X, where Y is the dependent variable and X is the independent variable. What is slope and intercept? Are they significantly different from zero? 

(b) Interpret the results of Analysis of Variance table and of Parameters Estimates table. 
(c) Create a plot in which the values of Y versus X, the predicted values and the residuals are appeared.
3. Επιθυμούμε να εκτιμήσουμε ποσοτικά την επίδραση που είχε η μετανάστευση στην αύξηση του ελληνικού πληθυσμού. Οι προς μελέτη δημογραφικοί δείκτες παρουσιάζονται από επίσημα στοιχεία της ΕΣΥΕ για την περίοδο 1960-1984 στον ακόλουθο πίνακα και αναφέρονται στην ετήσια αύξηση του πληθυσμού ανά 1000 κατοίκους (μεταβλητή pop) και στο δείκτη καθαρής μετανάστευσης (παλιννοστούντες-αποδημούντες) ανά 100 κατοίκους (μεταβλητή migr). 
	Year
	Pop
	Migr

	1960
	7.9
	-3.7

	1961
	7.5
	-2.8

	1962
	4.4
	-5.7

	1963
	3
	-6.6

	1964
	4.3
	-5.6

	1965
	5.2
	-4.7

	1966
	9.5
	-0.6

	1967
	7.1
	-3.3

	1968
	5.5
	-4.4

	1969
	1.8
	-7.6

	1970
	2.8
	-5.3

	1971
	5.9
	-1.8

	1972
	7.1
	-0.1

	1973
	1.9
	-4.8

	1974
	5.4
	-2.1

	1975
	13.3
	6.5

	1976
	13.2
	6.1

	1977
	13.1
	6.7

	1978
	13.9
	7

	1979
	11.2
	4.3

	1980
	11.5
	5.2

	1981
	6.3
	0.7

	1982
	6.2
	0.8

	1983
	5.2
	0.9

	1984
	4.8
	1


Κάντε απλή γραμμική παλινδεόμηση με τη χρήση του στατιστικού πακέτου SPSS, θεωρώντας ως εξαρτημένη μεταβλητή την pop και ως ανεξάρτητη μεταβλητή την imgr και σχολιάστε τα αποτελέσματα που θα προκύψουν.
